

INFORMATION REPORT

TO: Chair and Members

Audit, Finance and Administration

Committee

WARD(S) AFFECTED: CITY WIDE

COMMITTEE DATE: March 25, 2013

SUBJECT/REPORT NO:

Report of the 2012 Remuneration and Expenses as Required under Section 284 of the Municipal Act (FCS13032) (City Wide)

SUBMITTED BY:

Mike Zegarac
Acting General Manager
Finance & Corporate Services

SIGNATURE:

PREPARED BY:

Bev Neill (905)-546-2424 ext 6274

Council Direction:

Not Applicable

Information:

Under the <u>Municipal Act</u>, the Treasurer must submit to Council before the 31st of March each year, an itemized statement of the remuneration and expenses paid to each Member of Council and citizen appointees to various local boards in the preceding year.

One-third of the Mayor's and Council Members' remuneration is received tax free as allowed under current tax legislation. In addition to the actual remuneration paid to the Mayor and Members of Council, Appendix "A" of Report FCS13032 also shows the remuneration that would be required if the one-third tax free exemption was discontinued and the remuneration was grossed up to off-set the tax impacts. Appendix "B" of Report FCS13032 provides details for the Mayor and Members of Council expenses.

As per the direction of Council, staff forwarded the expenses reflected in this report to Members of Council for their review.

(a) Remuneration paid pursuant to Section 284 of the Municipal Act and By-law 01-023. Expenses paid pursuant to Section 283 (1), (2) and (3) of the Municipal Act.

Council Member	Remuneration*	Expenses***
		\$
B. Bratina	118,517.62	4521.23
B. Clark	69,911.35	299.05
C. Collins	69,911.35	2005.63
S. Duvall	69,911.35	10973.53
J. Farr	69,911.35	902.78
L. Ferguson	69,911.35	1666.35
T. Jackson	69,911.35	2416.67
B. Johnson	69,911.35	4468.99
B. McHattie	69,911.35	3239.84
S. Merulla	69,911.35	2558.73
B. Morelli	69,911.35	2942.72
J. Partidge	69,911.35	230.20
R. Pasuta	69,911.35	4413.92
M. Pearson	69,911.35	806.59
R. Powers	69,911.35	6638.69
T. Whitehead	69,911.35	4284.94

^{*} Actual remuneration paid to Mayor and Councillors.

Gross up of tax free portion of salary assuming basic tax exemption and 2012 tax rates for Councillors is \$86,199.00 and for the Mayor is \$157,430.00

***Expense Notes

Mayor B. Bratina attended Meeting with Minister in Ottawa in March - \$464.71, AMO Conference in Ottawa in August- \$1311.93 and Big City Mayor's Caucus in Ottawa in November - \$430.81. Other expenses -\$2313.78.

Councillor Clark - Other expenses - \$299.05.

Councillor Collins attended the Hamilton Economic Summit in Hamilton -\$325.00. Other expenses - \$1680.63

Councillor Duvall attended the FCM-Sustainable Communities Conference in Ottawa in February - \$2963.77, City of Hamilton Representative at 20th Anniversary of Mining Explosion in Stellarton in May - \$1111.97, FCM Conference in Saskatoon in May - \$3593.27, FCM Board Meeting in Laval in September - \$1332.78 and the FCM Board Meeting in Ottawa in November - \$1971.74.

Councillor Farr – Other expenses – \$902.78.

Councillor Ferguson attended the Hamilton Economic Summit in Hamilton - \$325.00. Other expenses – \$1341.35.

Councillor Jackson – Other expenses – \$2416.67.

B. Johnson – Other expenses - \$4468.99.

Councillor McHattie attended the FCM 2012 Sustainable Communities Conference in Ottawa in February - \$1840.83 and attended the Hamilton Economic Summit in Hamilton -\$375.00. Other expenses - \$1024.01.

Councillor Merulla attended the American Planning Association 2012 National Conference in Los Angeles in April - \$2558.73.

Councillor Morelli attended the Canusa Games in Flint in August – 546.86. Other expenses - \$2395.86.

Councillor Partridge – Other expenses - \$230.20.

Councillor Pasuta attended the Canusa Games in Flint in August - \$424.53. Other expenses – \$3989.39.

Councillor Pearson – Other expenses - \$806.59.

Councillor Powers attended as Council's Representative the following meetings; the Canadian Urban Transit Authority (CUTA) in Ottawa in February - \$549.35, Federation of Northern Ontario Municipalities (AMO) in North Bay in May - \$542.96, North-Western Ontario Municipal Association AMO Business in Kenora in April - \$1015.25, Canadian Urban Transit (CUTA) in Victoria in May - \$2015.79, AMO Executive Committee & Board of Director in Windsor in June - \$404.52, AMO Executive Board of Director's & Conference in Ottawa in August - \$964.12 and Canadian Urban Transit Association Exec. Committee in Quebec in November - \$972.70. Other expenses - \$174.00.

Councillor Whitehead attended the FCM Conference in Saskatoon in May - \$2063.16 and FCM in Ottawa in November - \$1400.58 and attended the Hamilton Economic Summit in Hamilton -\$325.00. Other expenses - \$496.20.

(b) Conservation Authorities

Remuneration and expenses paid pursuant to Section 284 of the Municipal Act. The Conservation Authority pays the expenses below directly to the appointees.

Hamilton Region Conservation Authority

<u>Appointee</u>	Remuneration \$	Expenses \$
	~	Ψ
B. Clark	0	0
C. Collins	0	0
B. McHattie	0	0
T. Jackson	0	0
R. Pasuta	0	0

Grand River Conservation Authority

<u>Appointee</u>	Remuneration	Expenses
	Ф	Ф
J. Jamieson	1836.00	211.20

Halton Region Conservation Authority

<u>Appointee</u>	<u>Remuneration</u>	<u>Expenses</u>
	\$	\$
I Dunlop	450.00	206.44
J Partridge	800.00	0
E. Wells	300.00	110.24

(b) Conservation Authorities - cont'd

Niagara Peninsula Conservation Authority

<u>Appointee</u>	Remuneration \$	Expenses \$
C. D'Angelo S. Beattie	1312.71 759.99	1480.00 841.00
Niagara Escarpment Com	nmission	
<u>Appointee</u>	Remuneration	Expenses

R. Powers 4577.00 718.50

(c) Hamilton Police Services Board

Remuneration and expenses paid pursuant to Section 284 of the Municipal Act and By-law 01-039.

<u>Appointees</u>	Remuneration	Expenses**
	\$	\$
B. Morelli	0	0
B. Bratina	0	0
N. DiGregorio	12872.34	6735.21
J. Kay	9132.24	6270.43
M. Levy	9132.24	8799.40
I. Stayshyn	9132.24	7337.70
T. Whitehead	0	0

Appendix "A" to Report FCS13032 Page 6 of 8

- ** Expenditures authorized by the Hamilton Police Services Board and funded from the Police Services Board budget.
 - N. Di Gregorio attended the Police Association of Ontario Labour Conference, Ontario Association of Police Service Boards Conference; Canadian Association of Civilian Oversight of Law Enforcement Conference, International Association of Chiefs of Police Conference and Ontario Association of Police Boards Seminar.
 - J. Kay attended the Police Association of Ontario Conference-Labour, Ontario Association of Police Service Boards Conference and International Association of Chiefs of Police Conference.
 - M. Levy attended the Police Association of Ontario-Conference-Labour, Ontario Association of Police Services Board Conference, Canadian Association of Police Boards and International Association of Chiefs of Police Conference.
 - I. Stayshyn attended the Ontario Association of Police Service Boards Conference, Canadian Association of Police Boards Conference and the International Association of Chiefs of Police Conference.

(d) Hamilton Public Library Board

Remuneration and expenses paid pursuant to Section 284 of the Municipal Act and By-laws 1-74 and 01-038.

<u>Appointees</u>	Remuneration	<u>Expenses</u>
	\$	\$
R. Bagdonas	0	47.27
K. Baker	0	47.27
S. Fawcett	0	47.27
J. Gautrey	0	47.27
G. Geczy	0	284.57
T. Jackson	0	47.27
G. Nakamura	0	47.27
M. Pearson	0	47.27
D. Simpson	0	47.27
W. Tulloch	0	1202.34
N. Van Velzen	0	256.12

(e) Committee of Adjustment/Land Division Committee

Remuneration and expenses paid pursuant to Section 284 (1) of the Municipal Act and By-laws 01-049 and R98-030.

<u>Appointees</u>	<u>Remuneration</u>	<u>Expenses</u>
	\$	\$
V. Abraham	2300.00	321.71
K. Audziss	700.00	375.24
D. Drury	1900.00	136.74
M. Dudzic	1800.00	116.60
I. Dunlop	2100.00	648.89
L. Gaddye	2200.00	1735.75
W. Pearce	2100.00	580.88
D. Serwatuk	2300.00	1877.96
D. Smith	2000.00	1261.93

(f) Trade License Board

<u>Appointees</u>	<u>Remuneration</u>	<u>Expenses</u>
	\$	\$
B. Assadourian	1925.00	0
D. Hardie	1925.00	0
M. Holms	1400.00	0
G. Korz	1925.00	0
R. Lalli	2100.00	0
J. Lane	175.00	0
G. Penko	1225.00	0
M. Riley	1400.00	0

(g) Hamilton Utilities Corporation

<u>Appointees</u> <u>Re</u>	<u>emuneration</u> \$	<u>Expenses</u> \$
B. Bratina	13000.00	1800.00

(h) H.E.C.F.I. Board

<u>Appointees</u>	<u>Remuneration</u>	<u>Expenses</u>
	\$	\$
B. Bratina	0	0
C. Collins	0	0
S. Merulla	0	0
J. Partridge	0	0
J. Farr	0	0

(i) Association of Municipalities of Ontario

<u>Appointees</u>	Remuneration \$	Expenses \$
R. Powers	4322.58	823.49

2012 Remuneration Report Councilor's Expenses

B. Bratina	Total Expense	# of Attendees	Remuneration Amount \$
Meeting with Minister Peter Kent, MPP David Sweet, Environment Canada Re: Randle Reef Ottawa, Ontario March 6, 2012 Flight			464.71
2012 AMO Conference Ottawa, Ontario Aug 19-22, 2012 Registration Hotel	694.95 616.98		1,311.93
Bishop Crosby's Favorite Charities Dinner Dance Hamilton Diocese 1 ticket			55.00
B'Nai Birth 2012 Sports Dinner Ticket 2 tickets	270.00	2.00	135.00
Hamilton Black History Committee John C Holland 16th Annual Awards Dinner February 4, 2012, 1 ticket			80.00
Rotary Club of Hamilton Mountain The Paul Harris Award Dinner February 15, 2012, 1 ticket			60.00
Hamilton Chamber of Commerce Delivering the Good, Metro linx presentation February 17, 2012			118.65
Goodwill, The Amity Group 2012 Outstanding Achievement Awards March 2, 2012, 2 tickets	150.00	2.00	75.00
Hamilton Centre for Civic Inclusion International Day-Community Luncheon March 21, 2012, 2 tickets	70.00	2.00	35.00
Hamilton Chamber of Commerce Mayor's Breakfast			45.20
Hamilton Chamber of Commerce Dundas Community Awards, 1 ticket			73.45
Winona Peach Festival July 20, 2012, 2 tickets	100.00	2.00	50.00

Appendix "B" to Report FCS13032 Page 2 of 27

Jamaica Foundation (Hamilton) Jam 50 Gala Tickets, 2 tickets	200.00	2.00	100.00
Breakfast Meeting Re: Pan AM West Town Bar & Grill Mayor/Peggy/Chris Murray/lan Troop May 8, 2012	44.64	4.00	11.16
•	44.04	4.00	11.10
Rotary Club of Hamilton Lee- Chin talk (speaker) February 26, 2012, 2 tickets	40.00	2.00	20.00
Tiger Cats Football 2012 Wall of Honour Dinner 2 tickets	200.00	2.00	100.00
Hamilton Sports Hall of Fame Induction Dinner September 25, 2012, 2 tickets	200.00	2.00	100.00
Stoney Creek Chamber of Commerce 2012 Mayor's Luncheon October 4, 2012, I ticket			39.55
Hamilton Chamber of Commerce City Managers Breakfast	90.40	2.00	45.20
Big City Mayor's Caucus Ottawa, Ontario November 15, 2012 Airfare			430.81
Canadian Italian Business and Professional Association Summer Social, August 23, 2012 2 tickets	60.00	2.00	30.00
Breakfast Meeting West Town Bar & Grill McMeekin, Cripps, Mayor, Peggy/homelessness funding	39.71	4.00	9.93
March-December 2012 407 ETR			247.45
Chocolate Fest, 3 tickets	75.00	3.00	25.00
Staff Appreciation lunch Forbidden City Restaurant 7 people			
Business Lunch	138.53	7.00	19.79
Zum Linzer 5 people	76.35	5.00	15.27
27th Annual CYO Celebrity Dinner Children's Fundraiser March 1, 2012			
2 tickets	250.00	2.00	125.00

Appendix "B" to Report FCS13032 Page 3 of 27

United Way Evening of Celebration February 17, 2012 4 tickets	60.00	4.00	15.00
Carmen's Inc. Sylvester Stallone, Up Close and Personal February 23, 2012 1 ticket			250.00
Hamilton Chamber's Outstanding Business Achivement Awards March 26, 2012 2 tickets	226.00	2.00	113.00
Charity of Hope Fundraiser March 30, 2012 2 tickets	120.00	2.00	60.00
Bulldogs Foundation Meeting, Lo Presti at Maxwell May 14. 2012 4 people	136.96	4.00	34.24
Parking OLG Meeting in Toronto			15.00
Staff Lunch Meeting L Cantina June 14, 2012 6 people	160.00	6.00	26.67
Lunch Meeting Sarcoa Restaurant July 27, 2012 3 people	65.88	3.00	21.96
Working Breakfast Fortino's September 30, 2012 3 people	30.45	3.00	10.15
Luncheon Meeting Chester's Fingers October 10, 2012 3 people	65.70	3.00	21.90
Lunch Meeting The Miller November 12, 2012 3 people	90.32	3.00	30.11
Hamilton Go-station Hamilton to Mississauga, lunch Gary McNeil 2 tickets	29.70	2.00	14.85
Lunch Meeting Collins F & B Warehouse			

November 14, 2012

Appendix "B" to Report FCS13032 Page 4 of 27

3 people	45.41	3.00	15.14
Hamilton Go-station Hamilton to Toronto City Hall, Grey Cup Gala November 21, 2012 2 tickets	29.70	2.00	14.85
Hamilton Go-station Hamilton to Toronto, Transit Meeting November 20, 2012 2 tickets	29.70	2.00	14.85
Staff Christmas Lunch Sheraton Hamilton, December 10, 2012 7 people	282.89	7.00	40.41
Total			\$4,521.23

B. Clark	Total <u>Expense</u>	# of Attendees	
Stoney Creek Chamber of Commerce Citizen of the Year Award May 10, 2012			\$ 45.20
Stoney Creek Chamber of Commerce Southbrook Gold & Country Club, Golf fee June 7, 2012	248.60	2.00	124.30
Stoney Creek Chamber of Commerce Mayor's Luncheon, Powerhouse Restaurant October 4, 2012			39.55
Bishop Crosby Charities 28th Annual Bishop Charities Dinner Dance, 2 tickets	120.00	2.00	60.00
Friends of the Eramosa Karst Dinner & Dance Michelangelo's March 3, 2012	300.00	10.00	30.00
Total			\$299.05

Appendix "B" to Report FCS13032 Page 6 of 27

C. Collins	Total Expense	# of Attendees	Remuneration Amount \$
Hamilton Economic Summit 2012 Continuum Productions Inc, Registration			
Registration, May 10, 2012			325.00
Mileage January-December 2012			1,680.63
Total			\$2,005.63

S. Duvall	Total Expense	# of Attendees	Remuneration Amount
FCM-Sustainable Communities Conference			Ψ
Ottawa, Ontario			
February 7-11, 2012			
Registration	657.00		
Parking	80.00		
Mileage	559.83		
Hotel	1,402.33		
Per diem	264.61		2,963.77
City of Hamilton Representative at			
20th Anniversary of Mining Explosion			
Stellarton, Nova Scotia			
May 8-10, 2012			
Airfare	348.72		
Fuel	52.78		
Rental	201.09		
Hotel	302.06		
Per diem	142.00		
Parking	42.00		4 444 07
Mileage	23.32		1,111.97
FCM Conference			
Saskatoon, Saskatchewan			
May 31-June 5, 2012			
Registration	719.00		
Airfare	618.32		
Mileage	79.50		
Car rental	78.47		
Accommodation	1,621.30		
Per diem	237.35		
Parking	102.32		
Gas	92.01		2 502 27
Taxi	45.00		3,593.27
FCM Board Meeting			
Laval, PQ			
Sept 4-7, 2012	050.00		
Mileage	659.32		
Accommodation Per diem	444.09 207.37		
Taxi	22.00		1,332.78
FCM Board Meeting			
Ottawa, Ontario			
November 19-23, 2012			
Mileage	560.74		
Accommodation	1,017.00		
Per diem	239.00		
Parking	80.00		
Taxi	75.00		1,971.74
Total			\$10,973.53

Appendix "B" to Report FCS13032 Page 8 of 27

J. Farr	Total Expense	# of Attendees	Remuneration Amount
Mileage , Sept 17, 2011			\$ 68.64
27th Annual CYO Celebrity Dinner March 12, 2012, 1 ticket			125.00
12th Annual Rick Woods Memorial Golf Tournament June 16, 2012, 1 ticket			125.00
Andlauer Sports & Entertainment Inc. Outdoor Alumni Luncheon, 1 ticket			125.00
Rotary Club of Ancaster 15th Annual Charity Golf Classic June 21, 2012, 1 ticket			135.00
Hamilton Tiger Cats 2012 Touch Down Dinner, 2 seats	282.50	2.00	141.25
Volunteer Hamilton Move Fall Forum, 1 ticket			50.00
Factory Media Centre Fuel the Factory fundraiser, 2 tickets	20.00	2.00	10.00
Mileage , December 2012			68.90
Happy Birthday Doug, East Kiwanis Community Centre 1 ticket			30.00
Taxi to Police Advisory Meeting November 29, 2012			10.00
Breakfast Meeting West Town Bar & Grill	07.07	0.00	40.00
January 14, 2013, 2 people Total	27.97	2.00	13.99 \$902.78

L. Ferguson	Total Expense	# of Attendees	Remuneration Amount
Good Shepherd Present Blue Jeans & Bling An intimate evening with Chicago January 30, 2012 2 tickets	350.00	2.00	\$ 175.00
Continuum Productions Hamilton Economic Summit May 10, 2012 Registration			325.00
Business Meeting Dinner expense, Ancaster Community Committee Meeting The Brassie Pub, June 4, 2012	108.36	6.00	18.06
Business Lunch Heritage Days Lunch Coach & Lantern, July 31, 2012	55.42	3.00	18.47
Hamilton & District Labour Council Labour Appreciation Night January 27, 2012, 1 ticket			35.00
Hamilton Health Sciences A Roaring Affair 2012 HHS Gala Tickets February 11, 2012, 1 ticket			300.00
John Spolnik's Retirement Friday April 13, 2012, 1 ticket			30.00
SHARE Agriculture Foundation Dinner at the Lions Copetown Community Centre May 3, 2012, 1 ticket			35.00
Hamilton Chamber of Commerce Ancaster Citizen of the Year			73.45
Ancaster Community Services Golf Tournament June 6, 2012, Registration & ticket			175.00
Rotary Club of Ancaster AM Rotary Club Charity Golf Classic June 21, 2012			100.00
Rotary Club of Ancaster AM 27th Annual Charity BBQ/Auction			405.00
Food 4 Kids Food 4 Kids breakfast, 1 ticket			125.00 40.00
Ancaster Senior Achievement Centre Wilma Groen Retirement Party			

Appendix "B" to Report FCS13032 Page 11 of 27

October 31, 2012			10.00
Tony Tollis Retirement October 25, 2012, 1 ticket			28.00
Hamilton Chamber of Commerce Health Science Forum			67.80
Hamilton Chamber of Commerce Ancaster Division			25.93
Hamilton Chamber of Commerce Ancaster Division			25.93
Hamilton Chamber of Commerce Ancaster Division			25.93
Hamilton Golf and Country Club December 21, 2012	263.60	6.00	32.78
Total			\$1,666.35

T. Jackson	Total Expense	# of Attendees	Remuneration Amount
Staff Appreciation Lunch for Jim Kay Romano's Fine Dining January 5, 2012	84.59	2.00	\$ 42.30
Retirement Lunch Kelsey's March 8, 2012	58.83	2.00	29.42
Business Meeting Romano's Fine Dining January 13, 2012	78.45	2.00	39.23
Business Meeting Rumak Eatery & Bar January 17, 2012	70.09	2.00	35.05
Business Meeting Frisco's Eatery January 30, 2012	55.10	2.00	27.55
Business Meeting Ace Restaurant February 18, 2012	30.77	2.00	15.39
Business Meeting Thee Cagney's Pub February 13, 2012	37.65	2.00	18.83
Catholic Youth Organization Children's Fundraiser 40th Anniversary of our One to One Program March 1, 2012, 1 ticket			125.00
Tickets-Gala Dinner The Future of Pensions in Canada April 19, 2012	250.00	2.00	125.00
Business Meeting Baranga's July 3, 2012	64.71	2.00	32.36
Retirement for Linda Davies Marquis Gardens, Hamilton June 28, 2012	60.00	2.00	30.00
Business Meeting with Santina Moccio Acclamation July 11, 2012	83.06	2.00	41.53
Business Meeting, volunteer appreciation for Nick Pellegrino Sarcona Restaurant & Grill August 8, 2012	67.87	2.00	33.94

Business Meeting, staff appreciation & retirement for Recreation dept manager, John Kirkpatrick Baranga's			
August 22, 2012	40.14	2.00	20.07
Business Meeting with Charlie Puma from Canada Post Sarcona Restaurant & Grill September 12, 2012	107.27	2.00	53.64
27th Bishop Gala Event Dinner February 25, 2012, 1 ticket			55.00
Chocolate Feet Tickets	75.00	3.00	25.00
20th Annual Theatre Aquarius Vine Dining June 24, 2012, 2 tickets	270.00	2.00	135.00
Head of the Lake Historical Society 23rd Annual Heritage Dinner February 10, 2012, 1 ticket			40.00
Friends of the Eramosa Karst Dinner & Dance March 3, 2012, 2 tickets	60.00	2.00	30.00
HARRRP'S Gala Dancing on Sunshine February 17, 2012, 1 ticket			100.00
YWCA Women of Distinction Awards May 9, 2012, 2 tickets	150.00	2.00	75.00
Hamilton Artists Inc. Art Grab 2012			
May 4, 2012, 2 tickets	142.00	2.00	71.00
Living Rock Ministries Annual Gala Dinner May 3, 2012, 2 tickets	70.00	2.00	35.00
Coralee's Retirement Party February 21, 2012, 1 ticket			25.00
Celebrate John Spolnik's Retirement April 13, 2012, 1 ticket			30.00
Rotary Club of Ancaster Autumn Stroll 2012 September 9, 2012, 2 tickets	220.00	2.00	110.00
Retirement Reception for Ken Roberts May 25, 2012, 2 tickets	50.00	2.00	25.00
Hamilton Tiger Cats Alumni Association Oct 25, 2012, 1 ticket			100.00
Sharon Vize is Retiring June 28, 2012,	40.00	2.00	20.00

Appendix "B" to Report FCS13032 Page 14 of 27

Freelton Lions Community BBQ August 12, 2012, 1 ticket			40.00
14th Annual Good Shepherd Harvest Dinner Oct 11, 2012, 5 tickets	500.00	5.00	100.00
Tiger Cats Football-Wall of Honour Dinner August 20, 2012, 1 ticket			100.00
Neighbor to Neighbor Centre Vintner's Dinner November 9, 2012, 2 tickets	350.00	2.00	175.00
Cancer Assistance Program 11th Annual Pasta Gala November 23, 2012, 1 ticket			30.00
Business Meeting Sarcona Restaurant November 13, 2012, 2 people	100.62	2.00	50.31
Business Meeting Beaver & Bulldog December 20, 2012, 2 people	81.14	2.00	40.57
Business Meeting Brown Barrel November 10, 2012, 2 people	41.45	2.00	20.73
Staff Appreciation East Side Mario's November 8, 2012, 2 people	57.39	2.00	28.70
Volunteer Appreciation Stone Roads Bar & Grill November 6, 2012, 2 people	46.10	2.00	23.05
Tony Tollis' Retirement Celebration October 25, 2012, 1 ticket			28.00
Tailgate Party, A Farewell Party for Steve Miazga 1 ticket			15.00
Soup for the YWCA Soul November 30, 2012, 4 tickets	40.00	4.00	10.00
20th Annual Rock N Ray Michaels Beach Party April 28, 2012, 1 ticket			40.00
Trenholme Bocce Association Valentine's Day Dance 5 tickets	350.00	5.00	70.00
Polish Children's Choir Stokrotki Fund Raising Banquet			

Appendix "B" to Report FCS13032 Page 15 of 27

November 17, 2012, 2 tickets 200.00 2.00 100.00

Total \$2,416.67

B. Johnson	Total Expense	# of Attendees	Remuneration Amount \$
Roast & Toast for Larry Smith United Way in Burlington	50.00	2.00	25.00
Mileage, January-December 2012			4,443.99
Total			\$4,468.99

Brian McHattie	Total Expense	# of Attendees	Remuneration Amount \$
FCM 2012 Sustainable Communities Conference Ottawa, Ontario February 7-10, 2012 Registration Transportation Hotel Per diem	416.00 276.97 953.86 194.00		1,840.83
Grand River Carshare and Hamilton Carshare Membership	10 1100		464.13
February 7, 2012 Taxi x 2			31.00
Taxi, February 27, 2012			15.00
Taxi, June 12, 2012, To/from RBG			34.00
Hamilton Economic Summit Hamilton Convention Centre May 10, 2012 Registration			375.00
Taxi, October 17, 2012			10.00
Luncheon Meeting West Town Bar, August 7, 2012 Ted McMeekin & Environment Hamilton staff	29.21	3.00	9.74
Parking, September 27, 2012			5.00
Carshare, December 2011-October 2012			295.93
HCH Meeting/Rental, September 6, 2012			39.30
Parking. September 7, 2012			6.00
Jamaica Foundation (Hamilton) Jam 50 Gala Tickets, 2 tickets	200.00	2.00	100.00
McMaster University Meeting December 14, 2012 The Phoenix Bar & Grill, 2 people	27.81	2.00	13.91
Total			\$3,239.84
			, - ,=====

Sam Merulla	Total Expense	# of Attendees	Remuneration Amount \$
American Planning Association 2012 National Conference Los Angeles, California April 13-17, 2012			Φ
Registration	679.26		
Transportation Accommodation	656.10 590.74		
Per diem Parking	380.00 124.99		
Taxi	127.64		2,558.73
Total			\$2,558.73

B. Morelli	Total Expense	# of Attendees	Remuneration Amount
Head of the Lake Historical Society Heritage Dinner Tickets February 10, 2012, 2 tickets	80.00	2.00	40.00
Celebrate John Spolnik's Retirement April 13, 2012, 1 ticket			30.00
Committee Dinner August 18, 2012, 21 people	300.00	21.00	14.29
Represent City at Canusa Games Flint, Michigan August 10-12, 2012 Mileage Per diem	456.86 90.00		546.86
Mileage, January-December 2012			2,100.00
Meeting Expense Re: Gage Park Earth to Table Bread Bar May 31, 2012 2 people	4.92	2.00	2.46
Meeting Expense Re:SPCA Ben Thanh Viet Thai Restaurant February 22, 2012, 2 people	24.53	2.00	12.27
Meeting Expense Re:Seniors Committee TJ's Upper James October 11, 2012 2 people	48.20	2.00	24.10
Meeting Expense Re: Planning Issues Big Top April 14, 2012 2 people	20.00	2.00	10.00
Meeting Expense Re: LRT Williams Fresh Café May 18, 2012 2 people	9.46	2.00	4.73
Meeting Expense Re: Policing Issues The Egg and I February 4, 2012 3 people	58.60	4.00	14.65
Meeting Expense Re: Cancer Information Services Pho Binh Minh March 2, 2012 2 people	18.80	2.00	9.40

Appendix "B" to Report FCS13032 Page 20 of 27

Total			\$2,942.72
John Mykytyshyn turning 80 January 28, 2012, 1 ticket			50.00
Meeting Expense Re: Helping Hands Street Mission Boston Pizza July 19, 2012 3 people	42.89	3.00	14.30
Meeting Expense Re: SPCA Tim Horton's August 5, 2012 2 people	10.14	2.00	5.07
Meeting Expense Re: Planning Issues Big top Restaurant December 11, 2012 2 people	14.86	2.00	7.43
Meeting Expense Re:Holy Name of Jesus School Big top Restaurant October 24, 2012 2 people	13.50	2.00	6.75
Meeting Expense Re:Planning issues Lakeport Fish & Chips September 10, 2012 2 people	21.02	2.00	10.51
Meeting Expense Re: SPCA Ben Thanh Viet Thai Restaurant February 23, 2012 2 people	24.53	2.00	12.27
Meeting Expense Re:Gage Park Bright Spot Restaurant July 7, 2012	25.31	3.00	8.44
Meeting Expense Re:Seniors Issues TJ's Upper James August 5, 2012 3 people	57.57	3.00	19.19

J. Partridge	Total Expense	# of Attendees	Remuneration Amount
Rotary Club of Waterdown Robbie Burns Supper 2 tickets	100.00	2.00	\$ 50.00
Zonta Club of Hamilton II IWD Tea, 1 ticket			40.00
Interval House of Hamilton 10th Annual Drives for Lives Golf Tournament, June 6, 2012, 1 ticket			60.00
Hamilton Chamber of Commerce Mayor's Breakfast			45.20
Living Rock Ministries Gala May 3, 2012, 1 ticket			35.00
Total			\$230.20

R. Pasuta	Total Expense	# of Attendees	Remuneration Amount
Mileage January-February 2012			\$ 550.14
Mileage May-July 2011 report incorrectly Additional 336kms not reported in 2011			154.56
Mileage June-August 2012			876.25
Mileage, March-June 2012			905.77
Retirement Reception for Ken Roberts Hamilton Public Library May 25, 2012			25.00
Lunch Meeting with J. Priel, Alan Carey, I Cecchetti Cookhouse Bistro Inc. June 8, 2012	59.89	4.00	14.97
Mileage to Canusa Games Represented Mayor at Canusa Games August 10-12/12, Hamilton to Flint Michigan			424.53
Mayor's breakfast Hamilton Chamber of Commerce			45.20
First Time Skills for Supervisors & Managers Workshop Crowne Plaza Hotel , Hamilton February 8, 2012			450.87
Mileage, September -November 2012			909.92
Flamborough Chamber of Commerce BNB Breakfast with the Mayor			20.00
Flamborough Chamber of Commerce TSB Breakfast 11/28/12-Chris Murray			20.00
Parking, October 12, 2012			10.00
Breakfast Meeting Angel's Diner, November 21, 2012, 2 people	13.42	2.00	6.71
Total			\$4,413.92

M. Pearson	Total Expense	# of Attendees	Remuneration Amount \$
Winona Peach Festival July 20, 2012	200.00	4.00	50.00
Retirement for Linda Davies Marquis Gardens, Hamilton June 28, 2012			30.00
Retirement Ken D'Andrade Acclamation Bar & Grill May 24, 2012			20.00
Mileage, January-May 2012			258.11
Mileage, June 2012			94.87
Bryan Towers Retirement Function Receipt, 1 ticket October 19, 2012			20.00
Retirement Reception for Ken Roberts, 1 ticket May 25, 2012			25.00
Citizen of the Year Awards May 10, 2012, 1 ticket			45.20
Mileage, July 2012			174.90
Mileage October-December 2012			88.51
Total			\$806.59

R. Powers	Total Expense	# of Attendees	Remuneration Amount
AMO Meeting in Toronto February 17, 2012 Go Train			18.10
AMO Meetings in Toronto February-March 2012 Go train multi-trip ticket			45.25
AMO Meetings February 29, 2012 Tokens/transp to/from AMO			18.20
AMO Meeting April 3, 2012 Go Train Pass (10 trips) to/from AMO			47.25
Canadian Urban Transit Authority (CUTA) Ottawa, Ontario February 9-10, 2012 Transportation Mileage Per diem Parking	361.26 81.09 71.00 36.00		549.35
Federation of Northern Ontario Municipalities (AMO) North Bay, Ontario May 9-11, 2012 Registration Transportation Accommodation Per diem	255.00 132.21 84.75 71.00		542.96
Northwestern Ontario Municipal Association (AMO) Kenora, Ontario April 25-27, 2010 Registration Transportation Mileage Accommodation Per diem	225.00 572.72 72.71 128.82 16.00		1,015.25
Canadian Urban Transit Association (CUTA) Victoria, BC May 26-30, 2012 Registration Transportation Mileage Accommodation Per diem Shuttle	778.40 512.74 145.22 248.64 214.00 116.79		2,015.79

Appendix "B" to Report FCS13032 Page 25 of 27

Per diem	153.00	972.70
accommodation	420.00	
Transportation Train/Taxi	282.70 117.00	
November 9-12, 2012	202 70	
Quebec City, Quebec		
Board of Directors Meeting		
Canadian Urban Transit Association Exec. Committee		
Hamilton Chamber of Commerce		45.20
Mayor's breakfast		45.00
Taxi/Go-transit	49.00	964.12
Per diem	229.00	
Accommodation	519.74	
Transportation	166.38	
August 18-22, 2012		
Ottawa, Ontario		
AMO Executive Board of Directors & Conference		
Accommodations	79.10	404.52
Mileage	325.42	
June 21-22, 2012		
Tecumseh & Windsor, Ontario		
AMO Executive Committee & Board of Directors		

T. Whitehead	Total Expense	# of Attendees	Remuneration Amount
FCM Conference Saskatoon, SK May 31-June 5, 2012 Registration Transportation Mileage Accommodation Per diem 407 ETR Parking Taxis	719.00 618.32 77.80 364.82 125.40 17.82 112.00 28.00		\$ 2,063.16
Town & Gown Associates of Ontario Membership renewal			150.00
Knights of Columbus Regina Mundi Council 12745 Parish Dinner Dance April 22, 2012	50.00	2.00	25.00
Knights of Columbus Regina Mundi Council Father Daughter Valentine's Dance February 10, 2012	12.00	2.00	6.00
Continuum Productions Inc. Hamilton Economic Summit May 10, 2012 Registration			325.00
The Canadian Club of Hamilton Michael McCain Luncheon March 28, 2012			45.00
Hamilton Steel Worker Area Council Rick Woods Memorial Tournament June 16, 2012			125.00
Hamilton Tiger Cats Alumni Association 2012 Wall of Honour Charity Dinner October 25, 2012			100.00
ICLEI Livable Cities Forum November 29 & 30, 2012			45.20
FCM Ottawa, Ontario November 19-23, 2012 Taxi Accommodation Per deim	70.00 1,091.58 239.00		1,400.58

Total \$4,284.94